5. Given: CsHio(l) + & Oq(g) — 5’ COy(g) + Q H,O(g) Calculate the grams of
02(g) gas needed to react with 2.00 mol of CsH4,7?
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6. Given: 2 Na(g) + 5 Oug) — y4 N>Os(g) How many moles of Oz(g) are needed to
react with 1.250 moles of Na(g).

S ‘. I"O{ C 2

7. How many moles of MgCl, can be produced form 16.2 moles of HCl based on the following
reaction?

_ Mg+ _ZHCl — __ MgCl, + __ H;
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8. How many moles of Al would be required to produce 18.0 mol of H; according to the following
unbalanced equation?

bHol+ 2A - 3H,+ 2 ACkK
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9. Consider the reaction: S(s)+ Z H.S0.(aq)— 3B S0, (g)+ 2. H,0 N

4.80 g of sulfur reacts with excess sulfuric acid, what mass of water will be produced?

480, S, mol S | Z mol thO 18,929 _ = 29. w0
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